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Chapter 7 Ore

Name:

os!

Date:

Systems of Linear Equations

Learning Goal 7.2

Solve systems of linear equations using substitution.

Learning Goal 7.3

Solve systems of linear equations using elimination.

Do Oreo names make sense? Which one is the better deal? Let’s find out! They claim that there is three
times the cream in a Mega Stuff Oreo compared to a regular Oreo. Use the nutritional information for each
kind of cookie and the price for each package provided to complete this handout. Show all your work to claim

your prize at the end!

-\ port cream ()

Regular Oreos Mega Stuff Oreos
1. What is the cookie composed of (wafers to cream)?
- 2 woPers (W) -2 wobers  (w)

- 3 parts creom (<)

2. Write an expression to define your cookie. Ma

ke sure you define your variables.

2W + C

2W + 3c

3. What is the weight of one cookie?

54—% :\.3 g

2 cooldes | cookie

3 9 \3 9
2. Cookies | Cookle

4. How many calories are in one cookie?

b0 caloriey - 5372 calovies

180 calonies

a0 ca\ovies

=

2 oorle s | Coovie. 2 COOKARS \ cookie
5. What is the cost of one cookie?
3
., $ 549 . x e 2l x 549 - ‘:)) X 3
5000 349 3149  3ky
A*r549 Cost e coovie 3,%x 5 .49 COYY wookie
500 - (3 cookies 274 - (2L coouies )
. ' . ey SewN1In
x 2 0.3 Per Serving) 1083 " J
_ = 0.3 . = 0.53
(cost pes SP_W\r\(P 3 or Lt (cost P SQWm(j) oy 2L¢
=0.\2 =0.20
Assignment Finish this Handout! Quiz Next Day!
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6. What is the equation for the weight of one cookie?

2W+ = 1.3

2\W + 3C = \83

7. Solve the system of equations. What is the weight of the wafer? What is the weight of the filling?

N . C=WN\2-2w c=1\.23-2w

Y § U ution = 1.3—2(4.9)

2w+ D3 -2w) =18 r\\.g_gk
2IW+2330 “Lw = |3

=3.3
4w + 2.4 =8
4w =799 Te Watbers \Ne'\g\n 4.0 g each, ne regu\ar

W 240 ovYeo hos 3.3g Of e ond “me
mega. STUER oreo has 4.9 o of Cream.

8. What is the equation for the calories of one cookie?

2wWil=63%.3 Iw+3c = 90
9. Solve the system of equations. How many calories are in the wafer? How many calories are in the
filling?
%‘j 2AiMINGTIoN - 2w+ =033
7w + B¢ = 90 2w+ \84 =93.3
(WA o =933) 2w= %9
2 2
Z—_% = 3] W =115
pA
ey The wWoters have 1.5 calories each,ne

reowlar 0¢0 \Was 1.4 calores \n Yne cyeam ond
e S& STUER oreo has RB.2 Calones in e cream.

10. What is the equation for the cost of one cookie?

QW+ C= \L 2W+3c=20b
11. Solve the system of equations. What is the cost of the wafer? What is the cost of the filling?

%g eliminadion 2W+3() =20

TwC=\2 FWE T2
—(2wt3c=20) T E 2
2W=2
-2¢=-\4 2 >

-2 -2 W = 2. 5
C="] _m’\"ﬂe woaters cost 2.54¢ eqan e eream Of
T Ye

uwloy Oreo CoSts T1¢ ang e creom of
The meqo. gufe Oveo COSYS 21¢.
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